Name: Period: Date KQOL

FoM10 - Chapter 3: Par{2 PRACTICE Test |
NO CALCULATOR SECTION |

/12 Written Response: SHOW ALL WORK! REMEMBER UNITS!

1. What is the GCE of —12x°y% +18x%2+ 6x'y (L mark)— = — =

Answer; é —Z/ . ‘/{
J

2. Factor. Check by expanding. x*>~6x+5 (2 marks) 'h”o #S M
(e-8)x-D) - [P S
Answer: (-Z"S.)(I",)

Check: (:(,——L’)(x-l)

2
L=X=S% ¥
x*-bx +§ e
3.Factor. 2x*—5x—3 (2 marks) -
AN two #s foat X ~&
Zx*—6x +1x -2 + -5

2x(x-3)+1(x-3) = (76~3>(27t+') -'é |
| )

Answer: E _'33 EZ 5 ’ l)

4. Factor. 9x? +12xy+4y*> (2 marks)

perfect squace ?

5 (31 + 23) (3x+2§) = (214-23}1
S (3x+li/)) theck by FoIL: |

c{xz*réxj Foxy t Hy>
P> ¥y +iyr




~ Period: Date

Name: *

5. Factor FULLY: 2w* —32 (3 marks)

Aw* - 143 e j 2(wy) (w +)~)(w-2)

2(w*+4 )(w*- ‘f)

T
Answer: 2(\0;"' '*) (lﬁ i’)-)(““)-) 'UD squeres

6. Model the following binomial product by drawing algebra tiles. Write the final product. (2 marks)

(x+2)(x-4) l + L

Dﬂ
|
&
Z
Z

2 e Ly r
X T8

2
final product: Z - 2 X~ g
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Name: Class: Date: ID: P

Chapter 3: Part 2 PRACTICE Test @ culator Perm @

/10 Multiple Choice: Choose the BEST answer. Record your answer on the line.

12 1. Simplify the expression ‘.Zj %zg 3OZ~ 32{ then factor.

—l0y" =20y 40 S —10(y* 2y +1)
a. S +4p+1) c. —100°-2y—4)
b. -5 +4y+8) 1007 +2y +4)

C 2. Identify the greatest common factor of the terms in the trinomial 125°¢* + 24s*£* —30s%£>.

R

a. 65’1 @ 65’1

b, 6526 d 1267
A 3. Factor: £* +4¢—21 ( 7)( )
X A & (t+/)(E-3
XA 7
@(t+7)(t—3) | e (t=T)t+3)
<+ 1)t -21) d. (t-1)(e+21)

é 4. Factor: 2b* + 18b —20
2y +b-10) = 2(b+10)(b-1)

a. 2b+2)(b-5) (c.) 2b-1)®+10)
b. 2(b-2)(b+5) d. 2(b+1)b-10)

D 5. Factor: Tn* +62n—9 X -63 7’)21"43'\ -/"l .,7
o{,ew;u’o. t oL T

a. (Tn-9n+1) 43, =l c. (In+)(n-9)

b (Tn+9)(n-1) d. (Tn-1)n+9)
“In (v\ *'60 - CVH'?)
(n+4) (7m-l)
1.



Name: ID: P

7
ﬁ 6. Factor: 9a° +48a + 64 Pef)édé 57“}&
(30\ +8’) (361 +8) M (34 *’8)(3&#&’)
" (G3a+8)? c. (Ga—8) Qa2+ 245 +2Ya +64

b. (9a+8)(a+8) d. (3a+8)(3a-8) ?42 + Y0, +4Y

ﬁ 7. Factor: 165 81 ¥ of . /
[ lf,o + 77)( L/‘f ‘77,) |

a. (4p- 9q)2 c. (4p+9g)°

(4 +99)(4p - 94) d. (16p-9g)(p - 99)
C/ 8. Identify this polynomial as a perfect square trinomial, a difference of squares, or neither. .
25g —9h !
Nether IDOI‘ d,# [I7uarf{
a. Perfect square trinomial @ Neither F would havre fo

b. Difference of squares b& 23—3 B 9\ A 2

/ J 9. Which set of algebra tiles represents 3x> +x +4?

128/ i
mn

N 32 z t N 2 X

I x JEIUEE

b. 3x? X d. 2x? Y x X
-
Q 10. How MANY factors will this expression have when it is FULLY factored? x*—x*—12
Z'nu).(nk/s Hhati
1A
+ | (Zz L")(xz"’ 3)
A four c. five - S ',l
é three d. two -—L'L 3 (7( 2>(x+2) [xz+3)
S
e fuwo

Yaree

p7 7. 2



